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1 Teaching Higher Education in English only was a language policy bill
introduced throughout India, Malaysia, HongKong and Singapore in the
year

A) 1900
B) 1905
C) 1848

D) 1830
Correct Answer :- C) 1848

2 This comedy is all about war, love and marriage :

A) Apple Cart
B) Man and Superman
C) Arms and the Man

D) Dack to Methuselah

Correct Answer :- C) Arms and the Man



3 The jacket is dirty. It

A) It needs cleaning
B) needing cleaning
C) needs to clean
D) needed to clean

Correct Answer :- A) It needs cleaning

4 Anita Desai won the 'Sahitya Akademi Award' for

A) Bye Bye Black bird
B) Voices in the city
C) Cry the Peacock

D) Where shall we go this summer
Correct Answer :- *

is an example of Restoration Comedy,

A) The way of the world

B) Doll's House

C) Ralph Roister Doister

D) Mac Flecknoe

Correct Answer :- A) The way of the world




6  "Nabob'is a logu word from which language ?
A) Spanish
B) French

C) Italian

D) Indian
Correct Answer :- D) Indian

7 bric-a-bric is a loan word from which language ?

A) French
B) Italian
C) German

D) Latin

Correct Answer :- A) French



8  One of the following books is not the work of Virginia Woolf :

A) The Dead
B) A Room of One's Own
C) A sketch of the past

D) The search light
Correct Answer :- A) The Dead

9 'Sir Gawain and the Green Knight' is a poem by :

A) Lodge
B) Anonymous Writer
C) Chaucer

D) Caedmon

Correct Answer :- B) Anonymous Writer



10 T used watching cartoons when I was a child.

11

A) be liking

B) to do

C)to be

D) to love

Correct Answer :- D) to love

'"Tintern Abbey' which showcases Wordsworth's love for nature was
published in the year

A) 1798

B) 1790

C) 1780

D) 1789
Correct Answer :- A) 1798



12 "They said it (1) no chance of becoming popular, but in the first
week it was packed, you could'nt move in here, and that's how it's on".
Said George Dorman.

A) Took

B) Stood

C) ram

D) Held
Correct Answer :- B) Stood

13 In America in the 1950, a school of literacy criticism called New Criticism
emerged. It was also called

A) Psycho Analytical Criticism

B) Sociological Criticism

C) Structural Method

D) Traditional Method
Correct Answer :- C) Structural Method



14 The child is father of the Man' is a quotation from the poem :

15

A) Ode to Duty

B) Resolution and Independence

C) I travelled among Unknown Men

D) Intimations of Immortality from Recollections of Early Childhood

Correct Answer :- D) Intimations of Immortality from Recollections of
Early Childhood

Of the poets listed below who is not an Australian ?

A) A.D. Hope
B) Judilh-Wright
C) David Malouf

D) Dan Moracs

Correct Answer :- D) Dan Moracs



16 During the first half of the eighteenth century the was a
famous meeting place for literary people in London.

A) Gardens
B) Dams

C) Halls in restaurants

D) Coffee House

Correct Answer :- D) Coffee House

17 According to Shepard, the average slope of the continental slope is :

Qaq LIl —er UL Sevor Fifleflest pmeif] &ifley :

A)3°30'
3030
B) 3°37'
3037
C)4° 17"
4017"
D)4° 41"
40 41"

Correct Answer :- C) 4° 17



18 Big Bang theory developed by Edwin Hubble by

QU Q6UIYLIL|& Q&TeTem & Edwin Hubble- 24,60
Qeuerflul UL L o600T() :

A) 1920
1920
B) 1950
1950
C) 1956
1956
D) 1960
1960

Correct Answer :- A) 1920

19 Mercury rotates on its axis once in every :
QUIG] 2H6T AEFF L R6UGCAITIH (LLEMMU|LD & LOVILD
&ITeVLD :
A) 59 days
59 BITL_& 6T
B) 120 days
120 BITL& 6T
C) 240 days
240 BITL_&6IT
D) 320 days

320 [BITL_&6IT

Correct Answer :- A) 59 days



20 According to the International Food Policy Research Institutes, India ranks
worst food security status which is based on :

FIaUGCHTF 2_600T6) QS TETeNSH T TUISF T
BlmieleoTmigerfler LIy @BSHIWT L& CLOMEFLOTET 2_600T6)
LMSISTLL Blemevem Ul G185 meooT &8 2_6TeTS! 6T60T LIS,
6TH 60T |1 LILIEML_UIT&HE C1& Mo Sl
A) Global Hunger Index 1995

2 sugermallw US @mluf® 1995

B) Global Hunger Index 2001

2 eusermallwl UG @&mIuih 2001
C) Global Hunger Index 2011

2 eusermallw LUs GmIui@m 2011
D) Global Hunger Index 2015

2 eug:ermallw US &mluf® 2015

Correct Answer :- C) Global Hunger Index 2011

21 Total number of Inlands in India :

@bS W TeNeT QLTSS 561 856rT160T 6T600T6001 1856085

A)572
572
B) 143
143
C) 285
285
D)615

615
Correct Answer :- D) 615



22 Which is the most populated Union Territory in India 2011 ?
@S wmeller w,eofluledr LNgCs & migs@heT 2011 —@)6V 6TS
P& INGHETOH T Q5 Te00TL &M 2_6TeTS.

A) Pondicherry
LImeoor 9.8 G & [f]
B) Chandigarh
F600TLQ. &[T
C) Andaman and Nicobar Islands

I HSLOIMTET LDMMILD BIGHTLT H6&H6i
D) Delhi

QL6v6l

Correct Answer :- D) Delhi

23 The Chambal Link Canal would provide water to the parts of :
FLOLI6L @) 6m6ooTLIL| &Tevaumuiledt epevd HF QUMID LIGS)

A) Rajasthan
@\ T M6 & M60T

B) Assam
S3|6NENITLD

C) Karnataka
SJBITL&IT

D) Kerala

@& e

Correct Answer :- A) Rajasthan



24 The Biosphere Reserves Programme initiated in India in : I
2 WIFsGsHTeT UMSISTLILS S LD @BbHuwmeiley
SISESHLILLL 3L600T() :

A) 1956
1956
B) 1986
1986
C) 2006
2006
D) 2016
2016

Correct Answer :- B) 1986

25 ) Karewa soil of Pulwama in Jammu and Kashmir is well known for the production of :
DL &Teq LOTfl6L Ljeveumnmallesr &GIalT LN6DoT 61608 615 60T
2 MUSH GG HOTE MWL LSTGSLD

A) Superior quality of Cinnamon
2 WIS @eVeUmisLILIL 6mL
B) Superior quality of Cardamom
2 WJJ& eV &Il
C) Superior quality of Saffron
2 WIJ& GG L,
D) Superior quality of Almond

2 W& UMSITLD

Correct Answer :- C) Superior quality of Saffron



26 In the Southern parts of the Meghalaya Plateau the average annual rainfall

of Mawsynram is more than

Guameowlm LT Ly 8luledr Qg,evrug;@u_‘ﬂev 2 616 LN 6T LD
—60T UL THE T Frnaif] LnemLpulene)

A) 1000 cm

1000 Q &.L0.
B) 1200 cm

1200 Q &F.19.
C) 1400 cm

1400 Q& .10,
D) 1600 cm

1600 Q &.L0.

Correct Answer :- B) 1200 cm
27 The Indian Iron & Steel Company (IISCO) set up its first factory at
QMBS W QLY LDHDILD 67 BlDIEIGTLD H6T LPFEV
Q& LA 6LF 6! 6V 6D UL @)6L SIUBIG WS

A) Punepur
LLGeuTLL
B) Halda
3|eLLIT
C) Hirapur
QI LI
D) Ambi
4oLl

Correct Answer :- C) Hirapur



28  Indira Gandhi Canal was previously known as the canal.
@BSHTT &HMTHS) &MeVEUTU (LN6OTL] & TeV6U MU
6T60TMI S|eMPNGHSLILIL LS.

A) Punjab
LI@h& L
B) Rajasthan
T ITE&6MV & T6OT
C) Gujarat
G&R1IMS
D) Jaipur
QEQUILLT

Correct Answer :- B) Rajasthan

29 town comes under mining town.

BSJLID &I MBS BT MK e SLD aUmHLD.

A) Dig boi
9.8 GUImUl
B) Kanyakumari
&HeoTe0f W m& Lo
C) Delhi
Hevell
D) Cochin
Q& M& & 6ot

Correct Answer :- A) Dig boi



30 was the first one to voice his concern about the growing

scarcity of resources as compared to the human population.

1060fl& D& 6T Q& Mem & U L60T L ILI(H\D GUITS!
aUeTmIGerfledr LUMMTEGemm &Ml&S! (NGH6e96L Sealemev
osflellgseuy .

A) Sir Robert Clive

FJ prurL Semermey
B) Sir Robert Malthus

FIJ JTUTL LOM6V& 6N
C) Sir Robert Loyed

gy gymurL GeurmulLen
D) Sir Robert Rodney

FJ ymuyL GrmL_eof]

Correct Answer :- B) Sir Robert Malthus

31 Inland waterways authority may set up in the year

2 BT BT U CUIMEHGUTEH S 24,60)600T LLILD
1600T(H) 6MDGHSHLILIL LS.

A) 1985
1985
B) 1986
1986
C) 1981
1981
D) 1983
1983



Correct Answer :- B) 1986

32 National Food Security Scheme was started in the year .
CoHFIW 2 _6voTe) LIMKISTLIL HILL LD 21,6007 19 6V

33

QSTLMIGSLLLLSI.

A)2015
2015
B)2016
2016
C)2014
2014
D) 2013
2013

Correct Answer :- D) 2013

The New Foreign Trade Policy was announced in the year

S W Qeuerflume] Ui &8 G&MeTemns
SMelsasluUl LS.

A) 2000
2000
B) 2002
2002
C) 2010
2010
D) 2015
2015

Correct Answer :- D) 2015

21,6007 196



34 Which Five Year Plan was based on poverty eradication ?

35

6ThS BHESMeooT(H HLL LD eumienin @Ol &HSHMS
Q& MTEOOTLSTGSLD ?

A) 6" Five Year Plan

66USI BHSTeooT(h HILL LD
B) 7™ Five Year Plan

7T6u8l BHSMevor(h HIL_L LD
C) 8™ Five Year Plan

86Ug 8BS Mevor(h HIL_LLD
D) 5" Five Year Plan

56U & Mevor(h HIL_L LD

Correct Answer :- D) 5" Five Year Plan

National Harbour board was set up in the year

2,600TL4.60 CHF W SHlemm (NS eurrlj‘]u_m
MG HLILIL LS.

A) 1960
1960
B) 1951
1951
C) 1950
1950
D) 1955
1955

Correct Answer :- C) 1950



36 Life expectancy year in year 2011 in India is years.

37

2011 9LIb gy evoriqev @BHWwmellev FFmaFi] QUL &meuLn
21,6007 (H) &H6T.

A)63.5
63.5
B) 62
62
C) 68
68
D) 72
72

Correct Answer :- A) 63.5

In which year was Pradhan Mantri Gram Sadak Yojana introduced in India
()

@bBHWTel6v 6Ths 6ot LNpsmer InBH Il SFmd &858
w6t T MWPSLUILGISSLILIL LS ?
A) 15" August 2000
15 @86 (h 2000
B) 25™ December 2000
25 1. &FLOLIIF 2000
C) 25" December 2001
25 1. &FLDOLIF 2001
D) 15" August 1999
15 @860 1999

Correct Answer :- B) 25" December 2000



38  Which revolt was started by the ruler of Travancore, in 1805 ?

39

6THS 605D HHNSTHIFa L FNWITETTTEL 1805 LD
2600T(H QIS MLMBISLILILL Gl ?

A) Sanyasi Revolt

FeoTeol | WITH H6v& LD
B) The Ahom's Revolt

IB&HITLDEN HeLSHLD
C) Raja of Vizianagaram's Revolt
N FWHST TITRQIT 856086
D) Diwani Velu Thampi's Revolt

Flaumenf] Gaua s &L Hevss LD

Correct Answer :- D) Diwani Velu Thampi's Revolt

In which year the East India Company's Government introduced the
'Enfield Rifle' in the Army.

6TH S 2,600T(H HILPEH HH U &N LI6oT Q| TE&FMTHIGLD,
@\ T sonI6U & G6v '6TedT LTV em L6 —6myWLl
SANWSLILGSS WS ?

A) 1801
1801
B) 1856
1856
C) 1857
1857



D) 1806
1806

Correct Answer :- B) 1856

40 Who is called as 'Steering Wheel of the Ship' ?

41

Wy 'SIpFmmss &LiLedNer S\ elend' eTeorm)
MG SELILUOS T ?

A) Governor
&6UT60T T

B) Chief Minister
(LNSHEVEDFEFI]

C) Finance Minister
BIS iG]

D) Home Minister

2 GTHINM S NNEFTFT

Correct Answer :- B) Chief Minister

In which Congress Session, was Nehru was elected as the President ?

BB, 6THS SHITHIG TN LDTel6L &H66VelT TS
CHIBOSH&HHLILILLITH ?
A) Nagpur
BIT&LLT
B) Madras
D& T ITEN
C) Lahore
VMG
D) Poona



LLeOTIT

Correct Answer :- C) Lahore

42 Which was the first uprising against English East India Company ?

43

BIR e HLPER HH U &LNG6 LT &G 6T TTE
BLSSLILLL (PFH6V HEV&HLD 6T ?

A) Sanyasi Andolan
FeOTWITEH 60T QL T6V60T

B) Revolt of Gorakhpur
CHMIHLLT H6V&HLIN

C) Revolt of Rangpur
TRILLT $60&L0

D) Revolt of Vijay Nagram

QUWHSILD &HeVsLD

Correct Answer :- A) Sanyasi Andolan

The Parliament House is also known as :

LTI MTEBLO6TMLD @)6UeUTMTH LD SeMPSHELILGSH MS.

A) Rashtrapati Bhavan
JITeIqLq T LIG) L16w 60T

B) Raj Bhavan
JITE3 LI6)U 60T

C) Sansad Bhavan
F6OTFSH L1660

D) Ananda Bhavan



L60T[HG LI6U60T

Correct Answer :- C) Sansad Bhavan

44 Who sowed the Seeds of Extremism in the Indian National Politics ?

45

@QBH W CHHW TFwedev Fallgaunssamnsd allsH L LalF
Wiy ?

A) Balagangadhar Tilak

LTS BIGTST H eV
B) Lala Lajpat Rai

6LITEVLIT VLIS [T
C) Bipin Chandra Pal

LN9edT FHS [FLIMeV
D) Aurobindo Ghosh

TN B CoTeq

Correct Answer :- D) Aurobindo Ghosh

In which year the Government of India appointed a Committee, popularly
known as Butler Committee.

6TIH S 24,600T(H) @LE’)@U_I & sl Vs ss Qumm LILeur
G PEN6U MGG ?

A) 1927
1927
B) 1929
1929
C) 1926



1926
D) 1924
1924

Correct Answer :- A) 1927

46 Who was the Pioneer of the Communist Movement in India ?

@HS W &L0WL60l1&F @)U15858 3 60T (LN 60T G60TITLY UM
& pbHGHeT W ?

A)S.A. Dange
S.A. LMTRIGSH
B) Philip Spirata
L9691 ervemuyLLim
C) Fazl-ul-Huq
LI&6L 2.6V QM&
D) M.N. Roy
M.N. gmul

Correct Answer :- D) M.N. Roy

47  In which year Indian Civil Service Act was passed ?

6TH S 24,600T(H @HH W GLqemLDLILIeooi] FLL LD
BlenmGaummUILIL L i ?

A) 1833
1833
B) 1858
1858
C) 1870



48

49

1870
D) 1861
1861

Correct Answer :- D) 1861

In the year 1944, the INA installed the Indian flag at which place.
1944 — 941D gzgamr@ 60 .6T60T.6J. 6TH & @L&H6L @ HSH Wl
Q&MQenW BITLIQUISI ?
A) Kohima
G manlom
B) Calcutta
HVHSHHIT
C) Delhi
GL6v6dl
D) Dhimmapur
SDLTLT

Correct Answer :- *

Who constructed the Chepauk Palace in Madras ?

QFeTem 6T U 6L 2 6o G&FLILIME 85D ) [J600T LD 6D 60T6D) UL
SLIQUIGI wWrry ?

A) Muhammad Ali

W& Gl 60
B) Zulfirkhan

F6u L9785 medT
C) Sadat-ullah-khan



F&HHSHI6V6VMEITEOT
D) Dost Ali

Gxmenvg 36

Correct Answer :- A) Muhammad Ali

50 Who established the Madras Mahajana Sabha in 1881 ?

51

1881 —94 L0 4,600T(H GILOL_[JITEN LO&TE60T &F60)LI6MI
BloieSlweuy Wiy ?
A) Mahadeva Ranade

D&TGCSH6U [JTTeoTGL
B) Mahatma Phule

ID&TSHLOM LL,E6V
C) Naoroji
BeuGrmesl
D) Gandhi
STHS

Correct Answer :- *

To which place Bahadur Shah II was deported as a prisoner :
THS QLSHMGS QT6U0TLITD LISSTT Q4T 6M&H UM BITH
FSLSSLILULLTY ?
A) Rangoon
[J M6 G 60T
B) Andaman
S BSLOMEoT
C) Ceylon



@ VMmN &
D) Nepal

@B UITeTLD

Correct Answer :- A) Rangoon

52 'Abhinava Bharat', a revolutionary Society was set up in :

'9|L9l60Tel LIS 6T6dTM LITL_Fl6UMTS FMIGHLD 6TMHIS,
MG SHLILLL G ?
A) Madhya Bharat
&S W LIMTISLD
B) Maharashtra
LDQ T TEG LG [T T
C) Bengal
6UMISTETLD
D) Uttar Pradesh
2 557 N78s&1h

Correct Answer :- B) Maharashtra

53 Where was the first All India Khilafat Conference held ?

(WNS6L TV @HH W HevmLIS LOMHT(H 6TMHIE
HEOLLIQLIMMS ?

A) Bombay
LI LD LT U
B) Lucknow

6V & GeoTIT

C) Nagpur



BT&LLT
D) Calcutta
HVHSHHIT

Correct Answer :- B) Lucknow

54 Who wrote Bangladesh's National Anthem 'Amar Shonar Bangla' ?

LR&GeTTCH6q —60T G5 51D '9|0F Caq.meoT Ty
LIMIG 6T —60)6) 6T UIITIT ?

A) Subash Chandra Bose
FUME FHS T GLImery

B) Rabindranath Tagore
TeiBHIBTS SMen ]

C) Sarojini Naidu
gFerymedles] Bl

D) Igbal

@\ & LIM6V
Correct Answer :- B) Rabindranath Tagore

55 In which place did King Senguttuvan build a temple for Kannagi ?

6THS G556V I TF6T Q& hIEGL_(h6U6dT J5600T600T T &M
Gamuil6v &L19 60T IT6oT ?

A) Madurai
LD G160V T
B) Kaviripattinam
sSmellflliLL1g60TLD
C) Vanchi



QUTEHT
D) Kanchi
HMEHTF)

Correct Answer :- C) Vanchi

56 Which system was introduced by Thomas Munro in the district of

57

Baramahal ?

LMJTN&ITEV DMEUL L &H 6V, SITLN6NV D6TCMIT 6THS
Wenmenw SMBlWSELILGSS T 2

A) Zamindari
LiletTgs Ml
B) Ryotwari
Twseurl
C) Mahalwari
D& 6VeU T
D) Tuglagwari

SIG6emg U]

Correct Answer :- B) Ryotwari

Simplify : 25 x 32 x 625 x 64
F(HEH G : 25x 32 x 625 x 64

A)5'x 26
511y 26

B) &8> x 5°
82x5°



C)4*x 5°
42x 5
D) 56 x 21!
56y 71l

Correct Answer :- D) 56 x 21!

58 A spinner of radius 7.5 cm is divided into 6 equal sectors. Then the area of
each of sectors 1s (approximately) :

7.5 QF .15 QLT (LNEITET 6(IH 61V LI60T60T T IT6OTSI b Ml &FL0
|6ma6TeT eUL L G&meooTl] LIGH&HemmasLI

LN l& s UL (heTergl 6T6vl16V 6eUQ6UT(IH 6UL_ L85G8 mevor L
L& Wler LpLiLieTe (C&MIMUILDITS)

A)30.46 sq.m
30.46 QF .15 2
B)31.26 sq.m
31.26 Q& .15
C)27.56 sq.m
27.56 Q&F .Y
D) 29.46 sq.m
29.46 Q& .1

Correct Answer :- D) 29.46 sq.m

59  Kumaran has Rs. 600 and wants to divide it between Vimala and Yazhini
in the ratio 2 : 3. Who will get more and how much ?
&G LDJE0T &560T60TIL_LD 2_6IT6IT €. 600 -3 eflLn6VIT L MHMILD
wimdlesll @@HeUEHEGLD 2 : 3 eTeoTm B FHE5H v L1165 315
QBTHIERMTT 6Tevl16L, AH&HE QG TN QLIMILIAIT WITH ?
6TEUGRU AT QILIMIGUT ?
A) Rs. 450 - Yazhini



erm. 450 — wimidleof]
B) Rs. 360 - Yazhini
emm. 360 — wimidleof]
C) Rs. 540 - Vimala
em. 540 — elloeur
D) Rs. 360 - Vimala
€. 360 — ellLoeurT

Correct Answer :- B) Rs. 360 — Yazhini

60  Simplify the ratio 20 : 5.
20: 5 eTedoT NP SHHMS F((HEHGS S5

A)5:2
5:2
B)4:2
4:2
C)4:1
4:1
D)5:1
5:1

Correct Answer :- C) 4 : 1

61 1f30% of x is 150, then X is :
X —@) 60T 30% 6T60T LIS 150 6T60fl6V x —60T DG LIL] :

A) 500



500
B) 300
300
C) 400
400
D) 450
450

Correct Answer :- A) 500

62  The volume of a cuboid is :
6(IH &>60TF QT 61615 S T 60T FH60T 3|66

A) Ibh cubic units

Ibh & 60T J6V(& 86T
B) nrl cubic units

nirl &60T | 6V(& 6T
C) Ib cubic units

1b & 60T |6V 56T
D) Ibh? cubic units

Ibh? & 60T 2|6V(& & 6T
Correct Answer :- A) Ibh cubic units

63 If 6 children shared 24 pencils equally then how many pencils are required

for 18 children ?

6 GLOHENHE6T 24 QLIETFILSHmET FLOLNMS LIBISL (H&
Q& TETH MMTIE6T 6T60l16V 18 GLOHN S5 EHE G5
B & 60161 WITEOT Q\LIGOT &6V & 6T 6T5 & 60)60T ?

A)72
72
B) 64



64
C) 54
54
D) 60
60

Correct Answer :- A) 72

64 The perimeter of a semi circle is :
M TaUL_ L& H 6T SFMMeTe :
A) (m+2)r UNITS
(T + 2)r J6VG 6T
B)

b

|r.: : 3 EJr units
| 2 _

|% +2|r SIOGSET
\ 4

C) nr’h units
nr’h 9J6V& 6T
D) (n + 2)r? units

(T + 2)12 6VG SH6IT

Correct Answer :- A) (1 + 2)r units

65 The volume of a right circular cone is 11088 cubic cm, and the height of
the cone is 24 cm, then the radius of the cone is :

(H GBI QUL L& FnlDLI6T 60T 66 11088 &.Q1&F .18 31,&LD. FnlDLIl60T
2 WD 24 Q&F.LS 6T6vf6V, & 60T QLD :

A)12 cm
12 QF.18
B)24 cm



24 Q&8
C)21 cm

21 Q&8
D) 18 cm

18 Q&.18

Correct Answer :- C) 21 cm

66  If the population in a town has increased from 20000 to 25000 in a year,
then the percentage increase in population is :

6(H [F&H IS H 60T LDGHEHET QST @ 3,600TL4.6V 20000
QGHSI 25000 -8 B &G SI6TaTS! 6T60t16V, L0 SH6IT
QTS AFGFLILEF FHefsLD :

A)20%
20%
B) 25%
25%
C) 45%
45%
D) 05%
05%

Correct Answer :- B) 25%

67  The total surface area of a Hollow cylinder is :

&(H 2_6TerfLmm 2_Hemeruilest QLOMESSLI LiMLUILITLIL] :

A)2n(R + 1) (R - r+ h) sq.units
2n(R+r)(R-r+h) &F.9

B) 2nr’(2pr + h) sq.units
2nr’(2pr + h) &F.9)



C) 2nr (R - r + h) sq.units
2nr (R-r+h) &F.9]
D) nr’h sq.units
nr’h &.9)]

Correct Answer :- A) 2n(R + 1) (R - r + h) sq.units

68 If the area of the rhombus is 60 sq.cm and one of the diagonal is 8 cm the
length of the other diagonal is :

(h FMUI FSITHH 60T LITLILIOTE| 60 Q& .12, 5 60T 6(H
eLpemev eI L LD 8 Q& .19 eTenflev (B &S eLpetevadlL L& &) eor
rfSGITLb:
A)12 cm
12 Q&F .18
B) 15 cm
15 Q&8
C) 14 cm
14 Q&.18
D) 10 cm
10 Q&F.18

Correct Answer :- B) 15 cm

69 Ifthe side of cube is 10 cm, then the volume of the cube is :
10 Q&F .10 LIS 3|6T66IT6N SHe0TEF SIS D) 60T & 60T 66

A) 100 cm?

100 Q&.L5°
B) 300 cm?



70

71

300 Q&5
C) 500 cm?

500 Q& .15
D) 1000 cm?

1000 Q& .L5°

Correct Answer :- D) 1000 cm?

The compound interest (C.1.) on principal = Rs. 5,000, r =4% p.a.,n= 1%
years, interest compound half-yearly is :

&6V = elh. 5,000 Qe00T(h QUL_LY 6HLD r=4%, n=1%
21,6007 (H & 6T 6T60T 60 TUIT600T(H &S (HLOEMM QUL
&H60oTHE L LILIL LTV BNemL_& @D Sl (b 6UL_ L] :
A)Rs. 310.50

em. 310.50
B) Rs. 300

em. 300
C) Rs. 301.25

em. 301.25
D) Rs. 306.04

emp. 306.04

Correct Answer :- D) Rs. 306.04

The average rainfall of Tamil Nadu is 998 mm. Convert it into cm.
SO &55 T 60T 9L600T(H FrmEf] e 6me] 998 L. LS.
I 5660TE QF6TLq LOL_ L [fl6L LDmMM &S :

A) 9980 cm
9980 Q\&F.L0



B) 99.8 cm

99.8 Q& .1
C)9.98 cm

9.98 Q&F.L8
D) 0.998 cm

0.998 Q& .1

Correct Answer :- B) 99.8 cm

72 The HCF of p° p'!' p’ is :
p’ p'! p° —60T L.QUIT.GIT.

A)p’
pS
B) pll
pll
C) p14
p14
D) p'*
12

p

Correct Answer :- A) p°

From the following fable, the cormrect relationship betweenx and v is :

73 x = | = 0 ] 2

6 3 0 =3 —b6

Meirau(hHLd S L eusmsmoniiledl(hhg x WwMHMID y Gp&ieumminslent G
2 ef1en &ifliLmeor Q&ML :

X —2 —1 0 1 2
y 4 3 0 -3 —é

A)y=-2x
y =-2X



B)y=2x
y =2x
C)y=3x
y =3x
D)y =-3x
y =-3x

Correct Answer :- D) y =-3x

74 If the length, breadth and height of a cuboid are 12 cm, 8 cm and 6 cm
respectively. Then the volume is :

(H SH60TFQF6URISH S H 60T [HETLD, 3|&H6VLD, 2 WD
WemmGCW 12 Q&F.14, 8 QF .15 LDMHMILD 6 Q& .LS eTevl16L 3| 5607
& 60T 66 :

A) 567 cm?
567 Q& .15
B) 576 cm?
576 Q& .15
C) 675 cm’
675 Q& .15
D) 600 cm®
600 Q& .L5°

Correct Answer :- B) 576 cm?®

75 The curved surface area of a Right circular cone is :
6(H CHFeUL_L FalDLI60T eUem6TLITLIL] :

A) 2mrl sq.units
2nrl &F.9
B) nrl sq.units



nrl &F.
C)
_'—rls unifs
i

1l

? F.3

D) 2nrh sq.units
2nrh &.9]

Correct Answer :- B) mrl sq.units

76  Find the area of the triangle whose vertices are (-3, 5), (5, 6) and (5, -2) :

(-3, 5), (5, 6) LDHMILD (5, -2) QS UIUMENM (LDED6OTSH 6T TS E
Q&5 T600T L (LN&> B8 T600TS &) 60T LITLI60ILIG SIT600TS

A) 32 sq.units
32 5.9
B) 36 sq.units
36 5.9
C) 39 sq.units
39 5.9
D) 30 sq.units
30 5.9

Correct Answer :- A) 32 sq.units

7T If 60 workers do a work in 7 days. In how many days will 42 workers do it

?

&(H GaUemeVemL 60 GLITE6T 7 IBITL_&6rflev (LNIY.&HEMITITSH6IT 6Tevflev 42
CGUIGHET (LI585 6TEHSH6060T BITL_SH6IT Q@& LD.
A) 14 days
14 BTL&6T
B) 12 days



12 BTL&6T
C) 10 days

10 BITL&6IT
D) 18 days

18 BITL_&6IT

Correct Answer :- C) 10 days
78  1f x% of x = 25, then X is.
X —@) 60T x% 6T60T LIS 25 6T6016V x —60T LOGHILIL]
A)75
75
B) 60
60
C) 50
50
D) 90
90

Correct Answer :- C) 50

79 The LCM of the numbers 156 and 124 is :

156 LDMHMILD 124 91L&\ W eTevorgserfleor LS.&).10 :
A) 4863

4863
B) 4836
4836
C) 4840
4840
D) 4846
4846

Correct Answer :- B) 4836



80  Simplify : 4*x 2°x 5°
FHES&H 4 x23x 5

A) 403
40°
B) 113
11°
C) 13
13
D) 143
143

Correct Answer :- A) 40°

81 The major task of a teacher is to capture the of the pupils and
retain them
LD IT600T 6L [] &5 61T | 60T TS5 8 BlenevaUME Q&g

& 2T lwirfledr W& W Liesol | WImE LD.

A) interest
ATUSHDS
B) attitude
BITLL&H60& / LO6OTLILIT60T60) LD 6D UL
C) attention
&H6U6TH NS
D) aptitude
&) 60) 60T

Correct Answer :- C) attention



82  Attention refers to a of an individual to select one out of the
various stimuli.

FHEUGDTLD 6T60TLISI LIsuGeumI SevorL_ 60561 160 (HHS! eRedTemm
CHI MBS (HLILIGMETeT AGLD.

A) deliberate and conscious effort

GO inmmid SiMledmihs / 2600 [J6) L 1L, [T L T6oT
WWHF
B) voluntary effort
(WWOFETT SHeUeoTLd
C) Involuntary effort
WWWOHFWMM 56U60TLD
D) natural instinct

@) WIM60) & UITEOT 2_6IT(ETH 600T [J6)]

Correct Answer :- A) deliberate and conscious effort

83  The task to find the attributes that distinguish the one from the other is
called

LNmeummledl b b, sedTmlene CoumiLIRSS &memmilh
&6oTem D6 85600T(H LI119.85 & LD Q& W6V T6oTS
6T6OTEVITLD.

A) concept mastery
&SI CHTFF

B) concept attainment
GBS 60 FH6V

C) concept formation
HHSHS! 2 (HEUTEHSLD

D) concept maturity
&BHSI NHTEFS

Correct Answer :- B) concept attainment



84  Life starts with the conception in the mother's womb as a result of the

process of of the ovum of the mother by the sperm cell of the
father.

Smuilesr spLlemuul a6t FlemeorpLleml, &Hen & uller allh& GlFev
eLp6VLD 6T6OTERILD GI&FWLIGVITEV QUITLDE] QG TLBIGRMSI.
A) fertilization

HO55H 556
B) maturation

WETFS e S6v
C) development

(LD6oT G6OTMMLD
D) growth

QUETIE &

Correct Answer :- A) fertilization

85  Growth may be limited to the changes in the

QUETIE & eTedTLIS) g MOLUGILD LOTMHMHISETTEV
M TWMISEHELIUBRMS!.

A) qualitative aspect

ST BI606V LDMMILD / LI6D0TL Bl60I6V LDF & H 6V
B) both quantitative and qualitative aspect

&GBle0n6 LDHMILD STBlN6 HDEFHH)e)

C) quantitative aspect

I|6mel60T I LDEFHF6V / &G Blemevulev

D) dimension aspect

LflLDmeoor 9JID&F5 56V

Correct Answer :- C) quantitative aspect



86 "It starts with conception and ends with death". This is based on

"&(HSSFILILN6L QS ITLMBIG LOJ6oTsSIL 60T (PIFmSI" @) S
S LILI6D L UM & Q& ITE00TL Sl

A) Principle of continuity
QS TLIJESR Q&5 M6Ten &6t
B) Principle of individual difference

GeoflWmeT Ceummienln Gl&sTeTemnds6m Ul
C) Principle of uniformity of pattern

62(LDMBIGITEOT J6MLDLIL| Q& T6IT60) & 60)LI

D) Principle of integration

62 (IH 61 55 60) 600T 5 &6V O\ & IT6IT60) &> 60 UL

Correct Answer :- A) Principle of continuity

87  The task " Learning to get along with age-mates" is a developmental task

of the age
625G 61 SI60 L UI6UIHL 60T @)60)600T[HSI GLIME G6)600TLe LIS
LM 05 FHS C&TeTe S o eiT@ermmifleor

QUETIER &MY QFWVMTSLD.

A)12-18 yrs
12 - 18 euwi gl
B)6-12 yrs
6-12 euWgl
C) Birth to 6 yrs
LU n&6v 6 UG
D) Early adulthood
ET LHF LIBeILD

Correct Answer :- B) 6 - 12 yrs



88

89

is a common emotions found among infants which is caused by
a loud sound or loss of support.

6TEOT LIS G LPHeM G & 6rflem LG & meoor LILI(HILD GILIMSI6) TeoT

2 e IEFWNGLD. Q& 2 755 @6l Slebevgl QBT GLoLILITE
JOUOHDS!.
A) Anger

@& muLD
B) Fear

LWL
C) hatred

QeUMILIL
D) Cry

ENATOF: 2

Correct Answer :- B) Fear

"The learning and tranining should start when a child reaches an
appropriate level of maturation : It implies the concept of

R GLHNS HGHS NHTEFEF Blenrsvemnil emL LD CLIMG SHMHMeV
LMD UWIHF QFTLMIG Geustor(HD. @) S

A) readiness

WSS
B) knowledge

3imle] el
C) learning

SMHM6L 1S
D) training

LWIMHE G

Correct Answer :- A) readiness



90 theories belong to the school of Gestalt psychology.

GHMLUMH&HET Q&L ITLL 2 emallulev LieTerlemuwl

CEFIHEH M6
A) Connectionist

@) 6M600TLIL|6UMTS
B) behaviourist

BL &MU Iev
C) humanistic

Lneofl & el ulev

D) cognitive

MG meor

Correct Answer :- D) cognitive

91  The theory of conditioning advocated by Pavlov is based on the principle

of

GomLUML1960T 9qLILiemLuilev Limeu@euimeumev
LU &enTHELILLL 3858 Blemeul|[(HSHH60 a1G) /
CaTLUMMH 6MD&HSEHLILIL (H6T6TS.

A) association and substitution
@emevor L] Lommih LIGHeS(H)
B) recollection
BlemerTaILIQGE SIS / 0D QFHTSLIL
C) stimulus and response
SIT600TL_6V LDMMILD I6VMEIGH 6V
D) training
LWImHE

Correct Answer :- A) association and substitution



92 The teacher who uses the techniques of guidance to improve his usefulness

has .
&1l LiWemeoT GRS S a8 T (h &6060T HILLIMIG 606
LweTU® &SI @ flwiF 2 MLWEITTEH @HEHMIT.
A) high intellect

2 Wihs ey

B) scientific attitude

S mleflwiev LievorL
C) high thinking

2 Whs Flheneor
D) interest

aJeuLd

Correct Answer :- B) scientific attitude

93 From an early age, is a source of good feeling and self-esteem.
Ao WS NmHHECS, 6T6OT LISl [H6V6V
2 6T G LD, & WM S & EGLD (H b TFLOMELD.

A) a sense of achievement
FMSITI6E00T 2_600T 6
B) a sense of failure
G meval 2_ecoor e
C) a sense of friendliness
CB&F 2_600TI6Y
D) a sense of safety

LIMSI&ITLIL

Correct Answer :- A) a sense of achievement



94 Our emotional life is determined by a number of
BLOG 60T &S 6UMLDGH 60, LIV
Srmefl&slIUGSH ma.

A) inner forces
o TFSHTG6T
B) outer forces
Qeueflza: S &er
C) inner & outer forces
2 6T InMMILD QeueflFsEHs6Tmev
D) persons
L0601 & & 6ImTeL

Correct Answer :- C) inner & outer forces

95 According to that fear and other emotional responses of
children could be created as well as removed by conditioned learning.

FaHMILILILG, GLOHNS 6 60T LIuL Immild L9m

2 6ooT & FILILLITEULDITEOT LIS 6V&H 606 2_(H6UMEE6VITLD
LOMMILD BlLHSEHEM 60T GL_LIL L SMM6L CLNGVLD (& MMEVITLN.
A) Watson

6U ITL_& 60T
B) Freud

STl
C) Shelton

@ 6.6VL_60T
D) Ausubel

L& GILI6GY

Correct Answer :- A) Watson



96 developed Thorndike's law of effect into drive - reduction

theory of reinforcement.

eTeOTLIOUT STTevoren L8 G 6or ellemere] ellFH W6 BB 2 H5
GenmLIL CHMLLIMLLQ6M60T 2_(HeUTE G 6T .

A)C.L. Hull
C.L. amev
B) Ausubel

QL& GILI6GV
C) Skinner

6N &) 60T6OT [T
D) Pavlov

LIMeuGevrT
Correct Answer :- A) C.L. Hull

97 is a period of great excitability of emotion.

6TEOTLIS 2 _6ooT (& T\ G611 OGBS 2 MM LOT60T
&MeVLD.
A) childhood

GPHems LiGeILD
B) Laterchildhood

LNM&mev GLLHemS Li[HeULd
C) adolescence

@) 6L
D) adulthood

QWS QUBS LI[HEULD

Correct Answer :- C) adolescence



98

99

is an attempt to improve capabilities of all children through
community owned quality education in a mission mode.

6T60T LIS 62(IH LI6o0T] 6T60Tm (LDemmUulev
FeNSHSH MG QFTHSLOMET &ILOM6T &Hevadl eLN6VLD
TS S & LPIH6M & & 6rfl60T &) M 6oTSH 60V6IT UL LD
GUURSSID WWHFWTGLD.

A) SSA
6T61.6T6MN.6].
B) RMSA
9LIT.6TLD.6TEN. 6.
C) Noon-meal Scheme
LS 2_6ooT6)] HIL_LLD
D) All Free Scheme
6TELEVIT @ 6VEUTF HL_ L MG EHLD

Correct Answer :- A) SSA

Ther Assistant Elementary Educational Officers are renamed as
as they would be inspecting & supervising all kinds of schools
including elementary schools in their jurisdiction.

2 50 QFTLEHS 560l INEUEVTHET, 6T60T
LOIQUWIILLILIGSMTTE6T, 6l60Tent 160 &HHIG6T HHSHTT
QUTLUIMGL UL L Q&TL&ELIUe6TeTl&6T 2 L LIl
I|6M6TEH S| UM ST LiaTer & ememu]Lld olile] Q&SI
GuMHUTTemeuWIH&H T I56T.

A) Block Educational Officers
QTG H&Hva I avialeur
B) Chief Educational Officers

FH606VenLn SVl H ST
C) District Educational Officers
el L sevell S &



D) Education Minister

FHLe I MEFFT

Correct Answer :- A) Block Educational Officers

100 Achievement motivation consists of varying proportions of

O|6D)IL_6)| D6MEG51D 6T60T LIS 6T60T M LI6LGeumI
LIIf1LD [T600T 6185 60)6IT 2_6iT6IT L& GRS

A) Cognitive drive, affiliative drive and ego-enchancement motivation

MeUTHMe, 2 HHLD, QS TLFLeMLU / &) 60600T 2_[HGLD
MoID FC&IT — allfleunss 2 HHLD

B) Cognitive drive, affiliative drive and psychomotor drive.

MeUTHMeL 2_HSHLD, QSTLILIMLLI / @)60600T 2_[H5LD
LOMMILD 2 6T @UIEHSEH 2 HSHLD

C) psychomotor drive, cognitive drive and instinct drive
2 AT-Q UGS 2_[HHLD, JMIUTMHM6V 2_HSLD, @) UI6VLLES
2 hGLD

D) instinct drive, psychomotor drive and cognitive drive

@QUIILLES 2 [HSLD, 2 M- W& S 2_HS LD, S MIeUTmHmey
2 LD

Correct Answer :-C) psychomotor drive, cognitive drive and instinct drive /
D) instinct drive, psychomotor drive and cognitive drive

101 The word motivation is derived from the movere, motum. That
is to move.

(Motivation) 26M&&L0 6T60TM GI&FTEL "movere", "motum” 6T60T M
BB QUHS S GLD. [HETHEV 6T60T D GILITDHET.

A) Greek root
RCTHSH CaUFQFTey
B) Latin root



6V5 5 60T T &MV
C) French root

LNQTEha Gaul Q& meu
D) German root

QL0600 CeUTE &6V

Correct Answer :- B) Latin root

102 "The test score should be free from whims and attitudes of the examiner".
It refers to the of the test.

G a6 L0GHLIG LIsvor G5 eumerfleor ell(pLiLILD WM mILD
LOGOTLILIMEaTem LD U 60TIT6L LIS &S MTEH UMM @) (H5HSH
Geuevor(hLd. @) & G5 el eor 6T6OT LITJ.
A) Validity
6JML]60)L6DILD
B) Reliability
HLOL18>& & 60T60) LD
C) Productivity
2585 T et
D) Objectivity
LI M6 UG & 60T60)L0

Correct Answer :- D) Objectivity



103 According to Gardner's theory of Intelligence, there are

104

of intelligence independent of each other.
ST eorif60T Hievorevormley G& ML LIML19.60T LI,

types

660 55 LITEOT 62 60TMIE G\ & TEOTM) FITT TS Hl600T600T 16

o _GITEMSI.

A) Six

S
B) Seven

g
C) Eight
6TL_(h
D) Nine
REOTLIG!
Correct Answer :- C) Eight

developed the Theory of psychoanalysis.
2 GMLILIGLILIMTUIG G&ITLLIMTLLQ6M60T 2_(HeUMEHS W6

A) Sigmund Freud
G & 0evorL LNgmulL
B) Ausubel

QL& GILI6Y
C) Mecleland
QL0 & 601 GevevoT L
D) Rorschach
GUmyeruys

Correct Answer :- A) Sigmund Freud



105 A defense mechanism called actually allows some disguised
expression of the 'id' impulses.

SMH&HMLIL BHLEemSUN6v 6TEOTLIS 2_cvoTem LU 6V 'id'
STeoor(h &6V &6 16T Fl6v LDE M(LNS Gleu6rILILITL L9600 60T
2DIDG &SR MG

A) projection
LM &1%Hev
B) denial
e & el (h &6V
C) displacement
@ L LOmMmMmLD
D) reaction formation

eTH Tl 60)60T 2,5 856V

Correct Answer :- C) displacement

106 Eysenk found basic dimensions of personality.
6TUIQIENV60TS 2, 6TH60) L0 IQ LILI6mL
Ufllnmeoorgem & &evor(H LN ST
A) Two

@ evor @)
B) Three

e 60T
C) Four

HEC
D) Five

BHSI

Correct Answer :- B) Three



107 Two agencies that are more responsible for the child's mental health are

GLIHeM S U 60T LD6T HeVSTHMES AH & QUITMILIL] QIS & GLD
@) 7600T(h) (LD &H60)LDS6IT :
A) the mother & the society
ST LDMMILD FELPSLD
B) the friends & the society
GHMPI&HET LDMMILD FELNSLD
C) the home & the friends
af(® LMMILD CHTLLTSH6T
D) the home & the school
¥ LmmILD LieTerf]

Correct Answer :- D) the home & the school

108 An under-protected child may become .
@@ UMSISTUUMOD SLhaswnearg

2 (HEUMSHEVITLD.
A) dependent, shy

FMIHS, Fn&FF SGLMTEILD 2 ML WISHTH
B) withdrawing, shy

L9607 UMMl &6V LDMMILD o &F SLIMAIN 2 0L WSTE
C) adjustable

25 8ICLIMGH6VTH

D) delinquent, irresponsible

QM LNmeTe] LMMILD QUTMILILINMES TS

Correct Answer :- D) delinquent, irresponsible



109 children are usually emotionally disturbed.

GLPHEN S FHET QLIMTSHIGITH
2 6ot & FleugF IR 6UTTE 6.

A) socially maladjusted
Feups FHWms KJsaeneors @ iflul
B) physically handicapped
2 |6V 2emeoT(LNMM
C) visually impaired
LmTFenel &enmuUm@h 2 6L Wl
D) hearing impaired
&gl CHATMS

Correct Answer :- A) socially maladjusted

110 Positive attitudes towards a particular controversial issue enhance learning
and retension on

@@ GOILVL L gr5anss @l L7e6 e eoren W
GBHTHEH W GHILDENM |G (LNem M) /

LD 60T LI LI T60T60) LO U TE0T S g LUenLuilév &MHmeL
LHOILD BleneTell(hSHenev AT & &SR M.

A) both cognitive and motivational grounds
MleUmMM6V LDMMILD D6T8: 858 5 M & T60T & 61T MhI G 6IT
B) cognitive grounds
SMIeIMHMEL SHerid
C) motivational grounds
2MEH G SH6ITLD
D) affective grounds

2 _600T[J6Y &6eTLD

Correct Answer :- A) both cognitive and motivational grounds



111 The mathematical statement of Newton's third law is :

Bl 60T eLnedTmmeu Sl efl&emul & 600r8 5\ W60l 60T LILg. :

A) FaonB=FBona

FAonB: FBonA

B) EADHE=—1_:E.:JHA

E-"—‘\ onB= _EE- on A
C) FaonB=2FBona
Faon = 2FBona
D) Fa on AB= FonBa

FA on AB— FB on BA

Correct Answer :- B) Faone=—FBona

112 The principle of platinum resistance thermometer is :

LNeTmLigeorid WleoTEHemL QS TS L1607 &5 SI6UL0MT6OTS

A) Resistance of a metal changes with pressure

2 Geumss LOl6OTE6m L UIMEOTS! (0555605 GlLIMTMIS S
CoumiLi(h\Lh

B) Resistance of a metal changes with tempearture

2 Geumas LETHEML QeULILISMS GLIMTMISS GeumiLi(hLd
C) Resistance remains constant

L 6oTH6mL DM TS
D) Resistance becomes '0'

16T emL KL &EIWIMGLD

Correct Answer :- B) Resistance of a metal changes with temperature



113 Mass defect of an isotope is

Blenm GenmUT(hH 6T60T LIS 62(H g@&n(‘éurud]m

A) difference between measured mass of the isotope (m) and its mass
number

&HeooTHH L LILIL L Blemm& &L (M) Bleom S LILIM@G LD
2 676 eSS WIMEFLD

B) difference between weight and mass number
TS G LD, BlemmE @G LD 2 616 el &S W me L
C) difference between the masses of parent nuclei
eLnev Blwserflem s erfleor Blemm GeumiLim(h
D) mass of the protons + electrons
LGTMLLITEIT + 6TQ16V& LT IT6DT [Blemm
Correct Answer :- A) difference between measured mass of the isotope
(m) and its mass number

114 The value of the Rydberg constant is .
ALQurs mmleduller &L

A) Rz = Ra % ;
1+ m/mz
1
FZ=Roag ® —
1 + m/mz
B
) Fz = Ra x L
m
]
Rz = R x —
m
C) Rz=Ro+0
Rz=Ro+0
D) Rz=Ra

Rz=Ra



Correct Answer ;- *

115 During transition of electrons from n=2 to n > 3, the spectral series arrived
from transition is

n=2 eNedlBBHSI n> 3, TOEVEL_JTEOTSET STe LD CLIMS
QeuerflGumILDd BIMLDTemn 6V euUf& 6T
A) Ha series
Ha eurflger
B) Hea series

Hea 6 Iﬂ 86T
C) Balmen

LIT6LLOTS
D) Lyman

60)6V L0 60T

Correct Answer :- C) Balmen

116 Hooke's law is defined as :
ames 5 — auen .

A) Stress is proportional to strain

Fe0 56| OO HiflY CHT all&555 eGS0
B) Stress is equal to strain

FH&H6)| LnMHMILD HiflL| FLOWOTH @) [H&EHGLD
C) Stress is proportional to strain within elastic limit

FHen &6 InMmmMILD Sl L Fululev eTevemevs &6 GBI
19 55560 ([H5 G LD

D) Stress and strain are constant

Hem&H6) LHMID Sl LIMHTHHSHSLD

Correct Answer :- C) Stress is proportional to strain within elastic limit



117 Which of the following is a soft base ?
G LD & 600T L6U M MIGT QILOETEm LOWITEOT STILD 675! ?

A)NH;
NH;
B) OH
OH"
Or
I
D)F
F-
Correct Answer :- C) T’

118 Which of the following is NOT a compound of sulphur ?
& LD & 8 600TL_6U D MIGT 6781 F6LLIl60T GFFLOLD G)6V6m6L ?
A) Galena

& 6060TIT
B) Cinnabar

G eoTEOTLITT
C) Fluorspar

& LB eIV LIMIY
D) Zincblende

FImiI& L9 Gl6oTevoTL

Correct Answer :- C) Fluorspar

119 Which of the following bonds has the shortest bond length ?

YesreumLd LNemevorLiL&6rfl6v W& 8 &Genmibs LemevorLL|
Berd 2 enL WS 615l ?

A)C-H
C-H



B)O-H
0-H

C)C-C
C-C

D) O-N
O-N

Correct Answer :- B) O-H

120 Gay Lussac's Law is represented by which of the following equations ?
LN eTeu(pLd FLoeTLM(H&6fleL 6715 60TMeL G5 auTa &l eor &)
SME&SLILOSB DS ?

A
) At constant volume and mass, ﬂzF‘_z

1 Iz

g n . P _P
MHlsmeVILITEN LIHLO6HT OMMILD Hlenmiiled, %ZT_E
] 2

B) At constant temperature and mass, P;V,=P,V,
Blem6vUTeoT GleuLlLIBlenev LDMHMILD Blemymuilev PV =P,V,
C) At constant temperature and mass, PV=constant

Blemeumest QeuLlLBlemev LDMHMILD Blemmuilev PV =
Lormled)

V.
At constant pressure and mass, TZT_Z
1 2

g . N
BHlsmeoiLITen LPGHSLD MHmMIh HenmiTed, T‘=T—;

1

At constant volume and mass, i=]:—2
Correct Answer :- A)



121 'Which of the following is NOT an ore of copper ?
L9 65T 6L (TH 61 60T6U M M 6T 6T &ITLILIK60T SIS 606V ?

A) Malachit
LOMeVEm &L
B) Azurite
S GOTL
C) Galena
&6060TT
D) Chalcopyrites

FMeVCSHITE LI T L& 6T

Correct Answer :- C) Galena

122" Which of the following is a d-block element ?
L9 6dT6u (H 6 60TeU M MIET d-Q& MG SHevfloLd 615! 2

A)Pb
Pb
B) Pu
Pu
C)PpP
P
D) Pt
Pt

Correct Answer :- D) Pt



123 Small spots or streaks of dead tissue appearing on diseased plants is
referred to as :

Fa 9jflefleormev Fmi LieTeflsmerma 6Veval auifl&HeTmss
GBI MM &medJmhiserledr GLe6y &meoorLiLI(heuS
eTeoT LILI(hILD.
A) Mottling
LjeTerflaseT G5 meoTmig eV / LomL_edlml
B) Necrosis
QB&HCTITHR 6N
C) Chlorosis
SGCemrmGrm&en
D) Mosaic
QLOTEN&F &

Correct Answer :- B) Necrosis

124 was the first scientist to coin the term 'chromosome’'.

SCrmCLMEaFTLD' 6TeoT QLWL (L& 6y 6l @6h@ehTeot]

A) Robert Brown (1830)
grmurL LNTeyedr (1830)
B) Sutton and Boveri (1902)
L GLIT6dT LnMMILD QUITGeuif] (1902)
C) Morgan (1933)
LOTT& 60T (1933)
D) Waldeyer (1888)
GUTEVEM LT (1888)

Correct Answer :- D) Waldeyer (1888)



125 Father of Tissue culture is :

S5 auemILILNeT SHens eTeorl] GUTMMLUILIBILIGUT :

A) Gottlieb Haberlandt

SITL6SIL1 @mITLIT6eVTedTL.
B) Henri-Louis Duhamel du Monceau

Qamet Ml-suruilerv (hammney (b LOMedTS W]
C) R.P. White

R.P. 606U
D) G.M. Morel

G.M. LDITJ6V

Correct Answer :- A) Gottlieb Haberlandt

126 The no. of O, molecules released per photon of light in photosynthesis is
called as

R6flFCEFIEHmM U @ SGUITLITET eerflenl FFI& S5
Q&meTEUS MG QeuemuIL LI 86018360 eLN6VE Tn M
6T600T 6001 | 85 60) 55 60) UL eTeoTLILI(hILD.

A) Quantum requirement
& 6UIT600TL_LD G 60)6)UI6IT6Y

B) Quantum yield
G eUMTeooTLLD alemerey

C) Photosynthetic yield
R6flFCFIEHm S allemeTeay

D) None of the above
GsyieTemaumnlev 61516 Ll 6vem 6V

Correct Answer :- B) Quantum yield



127 Glycolysis is also known as :

R emers & merflend & 60T LLHQMTIH QLW

A) Warburg-Dickens pathway
QUTIQUTS — 1988601610 aULOILILITEN G
B) EMP-pathway
EMP - e QILILITen &
C) Direct oxidation pathway
GBHILq Ulmeor — 9,8 6r & reor euLlLILITen &
D) None of the above

@eummlev ersi6Ld6L6mI6V

Correct Answer :- B) EMP-pathway

128 Desmotubules are found in :
QIL6NVGLOMGLOMUISET @6eumnlev &mevor LD :

A) Golgi bodies

GHML TR 2 MILIL|S6IT
B) Endoplasmic reticulum

eTeoor GL L fNemmeruLdlgs euemeuLILIl6oTeoT6ev
C) Cytoskeleton

N FL_GCL Mo G &6l L_60T

D) Plasmodesmata

LermeruGLmeLenvGLoL_ LT

Correct Answer :- D) Plasmodesmata



129 Which disease requires blood test at night to confirm the presence of
causative agent ?

GBI HMEHG LD &TFeoollenl 2 MG LILHSSI6UESMN 5 TS
6% GBS G rallev @ rssL1 LflGHFTHeme60r
QEUWLILGS M ?

A) Leishmeniasis
69619 GLoeoflWm&len
B) Filariasis
S LIGsuIflwm& ey
C) Typhus
60L& LI61V
D) Q fever
HW, HTUIFF6V
Correct Answer :- B) Filariasis

130 Which one of the following is NOT a nematode parasite ?

LY edTeu (HeeoTel HMI6T 618 QBLOCL M) 6UemEs 62 L () 600T6001 |
S|6V6V ?

A) Trichinella spiralis

Lem T T G60T6V6VIT 61V 60 LIT Tedl 61
B) Dracunculus medinensis

1 [T T8 60T(&H 606N QLN 1Q.60T60T6r0 61V
C) Echinococcus granulosces

6T 5 G6uT TS TE& 61V G I ITen GV ITEF 6N
D) Wuchereria bancrofti

o FFFFlWm UMeTe ImsLilg

Correct Answer :- C) Echinococcus granulosces



131 La Nina effect involves abnormal cooling of waters in :

euIT Bleotm eflemerey eTeuellL &S 6or BT LG S &Hemerm
P &HME &6l Fellsh @D :

A) Australia
L6V G Gredlwim
B) Ecuador & Peru
F&HILMTT & QLD
C) Peru & Kenya
QU & G&60TWIT
D) Japan

&9 LILIIT60T

Correct Answer :- B) Ecuador & Peru

132 The cross of F1 individual with its recessive parents is called :

F1 LT 31&H60T 62(hhIG LI6vorL] QuUMECMITGTT(H)
&Hevl1L960TLD Q& UIWLD (LNemM :

A) Reciprocal cross
GMI&HS QL (h &HeuLiL]
B) Segregation
5601158 QF6V6V6V
C) Back cross
LY 6dT S6vLILY
D) Test cross

G&FMSH60)160T &H6VLIL
Correct Answer :- D) Test cross



133 Which metabolic error is caused due to absence of melanin pigment
synthesis ?

QLoeventlest B 2 ML G Ul eTemnwmey gFMLI(HILD
QIETIFIens LDMMM &emUT®H) 6TS! 2

A) Albinism
SjeulileflFLD
B) Tyrosinosis
&G ITH GeoT THF 61V
C) Phenylketonuria
&LTemeoreL BELmepmlwim
D) Alcaptonuria

SusmLILsriflulm

Correct Answer :- A) Albinism

134 For which of the following eras, fossils were almost completely missing ?

L edTeu(pLD 6TH S FSHMLISHESHH 6V, L|e0 S LI OIS 6T
(DEUSIDTS Hen L &8 allevemey ?

A) Proterozoic

LMy CpmGamuils
B) Archeozoic

A THHCWMTCsTUis
C) Mesozoic

GFmCFmwils

D) Palaeozoic

UmelICWImGEFmuis

Correct Answer :- B) Archeozoic



135 grigsasmed &meT@mTI& 6T 6Temilh BTemev eT(WS W Wy
?

A)p. FepFal
B) p. eupspmEeor
C) . Fevfleums eor

D) BT, &L QULIQuImy

Correct Answer - A) [b. FehF el

136 g101bBTLl 1960 &pLD6VLD 6T60TM @)L& B 6V Bl&LPHS CUITH
LMW QF LIS 86M6TE Fon MILD HIT6V :

A) IBIT60T LD 60011 8555 19.60) 5>
B) &\ miLi@eh&FeLpeuLn
O) &y BTHUSI

D) ssemeuldl mmmLI g

Correct Answer - D) Semauldl BTmHLGI



137 '@ eurmem T 2_6uIT BIem6v 6TRS WU W 2
A) @emeb&Hlw
B waslwg
C) 95558 sall afyrmsealr

D) 915105178 SHall

Correct Answer - C) QH&55HE &6l efJImeeur
138 ghgliL G5H &6 &meulh WIMg! 2
A)&.4. 17
B)&).L9. 19
C) &1.191. 20

D) &) .19. 18

Correct Answer :- *



139 Quilwurpeuriflesr @uwb@uuwy wWmg ?
A) el Qe F1G ST
B) Ln@peofa:S Wiy
C) uofeuev6uLI 60T

D) ®meunseL iy

Correct Answer - A) ellL_(he S5 5T

140 S\flsBhisLD eTetTaniLh LIS G 60T600T 6 L0 8585600785 & HM6d) 60T
LS flwg w2

A) IH6LEVLITH GOTITIS
B) ssmriflumeeor
C) 60011 GG M WM

D) s 9evy

Correct Answer - A) [FEVGVITSHEOTITIT



41 L8 g5 omesflLLb' Breuedlesr eu@ AWy Wy ?

A) sif1E& M6t & 6h&
B) @&.U. pT&G&sITLIT6V 60T
O &. & flema

D) &). @\ Te2IB T[T ITU 600T60T

Correct Answer - A) &If|GF& 60T & 6HS

142 BreTioeuoll & a19.608 BHreder @ flwif wim 2
A) g 9e0l
B) L0 g160)[J& & 600T600T MRl Jon &G 60T ITIT
C) eflero L BT&6OTITI

D) L, CFHSH60TITIT

Correct Answer - C) gflemDLY BTE 60T



143 gmiQasmed eretTenih BIededr L& flwF Wiy ?
A)umgewmyg
B) UMy&\ & meeor
C) BITN& &6V Q6. @I MNedmIsGLI LieTemer
D) sreumdl &6 5 MeoTHS LIMTSHIWLTy
Correct Answer - C) [BITLD&GH6V GleU. @ T TNedm&LIDn

LYl eiTemerT

144 5 50T 6007 1 600T &) MU S MLDOL|' 6T60TMI @ & LMl G LD
BreuTwWlrgsHeuallw NUbBSSH L @)L LD QLM MI6TeT
LUM&T&HeMSLI LITIQ U QLDEUTT WITF ?

A) &)\ ([(HLOMBIEOY & UITLDEUTT
B) BLOLOTLDGUT
O) ngIgsellwWmpedmy

D) Qurflwmpeuriy

Correct Answer - C) L0SIT&NWITLDEUTY



145 Q&mmiGGeu6T LDMESHEME 6T60T GULNMHISLIGILIMILN HBT6V :
A) QU(BHIH S
B) auemerwimuI&)
C) @& L LIM6 6001 ]

D) &6 Ln6vof]

Correct Answer - A) QLI(HMIGHNS
146 BES\Q B eNeT& & LD 6T BTtV eT(DHWIUT WITH ?
A) SLIGSGUTT
B) RauliNgesnEr
C) (L6m6OTLILITIQ UIITIY

D) 915 efyymn Limevor iy

Correct Answer :- A) GLOTSHUIT U



147 Lbineb FlbuBS WNSeNWTT (LPS60T (NS6916V &G 6THS)
BlS5SH FENG BITLE&LD 6TS ?

A) 55 &GV 60T
B) &5 1fleor Qeumml
O) GxA WS Q&ITLY

D) 4eq Liaueved

Correct Answer - D) L|61q L16U6V60

148 sn (&) 66007 6T(LOLIGI BT 60T S @AW Wiy ?

A) 85600flWl60T GO eI
B) L0 m 60T G\ LI T6m M ULI 60T
O) QUITUIEM & WITLDEUITT

D) eLpeumSlwimy

Correct Answer - D) eLOeUTSHIWITT



149 g\pmellLL1 LNg&sTHems 6T60TenID HI60I6V 6TOGH WU u_|rr|j;?

3
A) &1, &L T weooflw LleTemert

B) &Im.QUIT. @53 60TLD
O) guMUS) BTeUeV

D) eT1D.6T6M. L, Fevoredlmigs 0 LileiTemerr

Correct Answer :- C) FLITUS) [HITEUGVIT
150 Lgasicinmligev ojemellev QUG Tl @) (HEGLD HT6V 618! 2
A) Wevemeull LIML_(h
B) LI 1q 60T ILIT6m 6V
O) IngIemTE SHTEHEH

D) lnemeuLI(h)&LITLD

Correct Answer :- C) LD&I6NJE &TEHT






